(spielbrett:Spielbrett)

westbahnhof:Bahnhof )

(" schlossallee:Strasse )

name=""Schlossallee’’
preis=8000
miete=750

farbe=""blau’’
preisProHaus=2000

anzahlHaeuser=1
- J

(" parkstrasse:Strasse )

name=""Parkstra3e”
preis=7000
miete=700

farbe=""blau’’

preisProHaus=2000

anzahlHaeuser=0
- v

(" wienerstrasse:Strasse

~

name=""Wiener Strafie”
preis=3600

miete=400
farbe=""orange’’
preisProHaus=1000

anzahlHaeuser=0
-

(" opernplatz:Strasse )

name=""Opernplatz’’
preis=4800
miete=540

farbe=""rot”’
preisProHaus=1500
anzahlHaeuser=0

name=""Westbahnhof”’

AN /

steht auf

Steht auf

besitzt

steht auf
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carsten:Spieler

name=""Carsten’’

kontostand=20000

AN J

achfolger ist

(" bertha:Spieler

name=""Bertha”’
kontostand=35000

AN /

achfolger ist
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anton:Spieler

Nachff

besitzt

lger ist

preis=4000
miete=500

name=""Anton’’

kontostand=40000

g J

besitzt



